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General Marking Instructions

Introduction

Mark schemes are intended to ensure that GCSE examinations are marked consistently and fairly. The 
mark schemes provide examiners with an indication of the nature and range of candidates’ responses 
likely to be worthy of credit. They also set out the criteria which they would apply in allocating marks to 
the candidates’ responses. The mark schemes should be read in conjunction with these general marking 
instructions.

Positive marking

Examiners are encouraged to be positive in their marking, giving appropriate credit for what they know, 
understand and can do rather than penalising candidates for errors or omissions. They should mark 
according to the mark scheme and make appropriate use of the mark range for any particular question. 
Where candidate responses are unclear and do not follow the question rubric the following guidelines for 
marking may also be used:

Candidates ignore the instruction/misapply the rubric.

•	 If candidates are instructed to answer a question in English and answer in the Target 
Language, or vice versa, they cannot be awarded marks for this.

•	 When candidates are asked to select answers from a list and they select more than instructed, 
they will have one mark deducted from the total amount of correct answers for every extra 
answer that they select, to a minimum mark of zero. For example if they are asked to select 
four correct phrases and they select five, they will have one mark taken off the total amount of 
correct answers.

•	 If candidates are asked to select four and select six, they will have two marks taken off the total 
amount of correct answers.

•	 If candidates are asked to select one answer and select more than one, they cannot receive 
any marks for the answer.

Candidates cross out a letter/unticks a box.

•	 If it is clear to the marker that one answer has been de-selected and another selected, the mark 
can be awarded for a correct answer.

English/Target Language answers.

•	 Mark schemes will include the anticipated responses and some others deemed credit-worthy by 
the examining team. These answers will be discussed at the standardising meeting and may be 
added to.

Quality of English/Target Language.

•	 Where spelling and grammar in English or the target language impedes understanding, 
candidates will not be awarded marks.

Awarding zero marks

Marks should only be awarded for valid responses and no marks should be awarded for an answer 
which is completely incorrect or inappropriate.
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1	 (a)	 B		  [1]

	 (b)	 C		  [1]

	 (c)	 B		  [1]

	 (d)	 A		  [1]

2	 (a)	 2 (el mundo)	 [1]

	 (b)	 7 (útiles), 4 (difíciles) any order	 [2]

	 (c)	 5 (diferentes)	 [1]

3	 Ticks at: (b), (e), (g), (i)	 [4]

4	 (a)	 3		  [1]

	 (b)	 1		  [1]

	 (c)	 2		  [1]

	 (d)	 4		  [1]

5	 (a)	 altísimo	 [1]

	 (b)	 fuego	 [1]

	 (c)	 aburrirse	 [1]

	 (d)	 casarse	 [1]

6	 (a)	 A		  [1]

	 (b)	 B		  [1]

	 (c)	 A		  [1]

	 (d)	 C		  [1]
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7	 (a)	 A connection between bull and bullfighter	 [1]

	 (b)	 Two from:	 The number of bullfights has decreased
	 		            	 The cost of rearing bulls has gone up
	 			   The entrance prices have been the same for 20 years
	 			   It hasn’t been shown on TV since 2006	 [2]

	 (c)	 (An injection of) new blood	 [1]

8	 (a)	 approach him	 [1]

	 (b)	 armed [1] fifty years old [1]	 [2]

	 (c)	 frightened	 [1]

9	 (a)	 They take empty houses to live in	 [1]

	 (b)	 demonstrations [1] there is always violence (at them) [1]	 [2]

	 (c)	 Three from:	  stones
	 			    sticks
	 			    glass bottles
	 	 	 	  fireworks	 [3]

	 (d)	 Cannot rent a flat 	 [1]

	 (e)	 there are (more than) 70 000 empty flats (in the city)	 [1]
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